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Quiz 5

No calculator, textbook or note allowed. Write your name and ID number on the front of the
quiz. Show all your work for full credit.

1. (10 Points) Derive the formula for the following Neumann problem for z > 0,

up = kgy ,
ug(0,t) =2,
u(z,0) = p(x).

(HINT: Do NOT simplify the resulting expression, but please write it in terms of .)

Sb[,: Let Vexitr = UWxt) = 2x,

then V colyes ) Vi = EVux, 0<X<eo.
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VX o) = L(’lx)-'zx :

Need t1 vz even extensim fw
Neamonn Problem , 5o Ppen = it(’w X, X270

P-x) +2x , X<0
So. Voxts = [ (Sexyibn + S0 ) ooy
= (Sl.x-j 11 Sy, 1) (P -2 Jj

So wxit) = [ (S(X‘}j: ""SU(”J w) (‘-(‘{’7 ‘Lj)(’j
Math 112A +2X . = Quiz 5




